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2.a)

7. Takethe scalesgs 3:1:- fo A e

b):

», Construct a plain scale of RF = 1:30,000 to show kilometers and hectometers and

# that'edge is ingl
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Answer all five questions
All questions carry equal marks

Construct a diagonal scale to read up to 0.1 mm, and mark on it a distance of 6.63 cm.

Jnscribe an gIl»ip§él..in'-~§ paraI:Lé:J gram of side‘_s';.'-- 50>< H0 mm, i

1500 thian inclined/angle of:
120%" : :

T[T+
OR

Draw a parabola passing through three vertices of a triangle of sides 30, 45 and 60 mm.

The comner of the triangle common to the 45 and 60 mm sides lies on the axis of

parabola. Draw a tangent and normal at a point on the curve 20 mm from the axis.

1k a distance 6£.5.3 km on the &

ale. .

A divider opened at 40° is placed on HP with its needle ends equidistant from V.P.
If the height of hinged end of divider is 60 mm from HL.P. and the distance
between needle ends is 50 mm, draw the projections of the divider, and determine the
a) true lengths of the divider legs, and b) inclinations of the legs with the HP and VP.
[7+8]

: /80% rakes'.an ©OF 307, with the/VP, ‘and lies ini""plané’
perpendicular to both the HP and VP. Its end A is in the HP, and the end B is in the VP.

Draw its projections and show its traces. [15]

A pentagonal prism is resting on one of the corners of its base in the HP. The longer edge
containing that corner is inclined at 30 degrees to HP and the vertical plane containing
ined at.45%to the VR Draw the projections of thessolid: ALS}y
A “tetrahedron of sidé 45 mm i resting with ohe™of its faces on“the HP.' Draw it
projections when the edge of the face lying on HP is parallel to and 15 mm in front of

VP. [15]

L U1

A hexagonal pyramid of side of base 40 mm and height of axis 110 mm is resting on one

» ofits inclined yertical surface on H.P..such that, its axis remains;paralle] to the V,P. It.is

/s ciit by a cuttirig'plane which is/ific

S - -,

the-pyramid. Draw front view, sectional top view. & ... S 4[5}t
OR

A transition piece connects a square pipe of side 25 mm at the top and a circular pipe of

50 mm diameter at the bottom, the axes of both the pipes being collinear. The height of

transition piece is 60 mm. Draw its development. [15]

lined at an angle 45° with H.P; dnd bisecting the ‘axis of,

A




9. An isometric view of a solid is shown in figure 1 below. Draw the front and top
orthographic views of the solid. The dimensions may be assumed in suitable units and in
proper proportion to the dimension shown in the figure 1. [15]

Figure: 1

OR
. Draw. the isometric.view of the.casting whose front and top views are-shown in ﬂgure 2.
, elow All d1mens10ns shown_ .the ﬁgure 2 are ,tn mm
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